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������� �� ������ �������
��� ���������� ��� ���������� C([−1, 1]) ��� ��� ������������� ��� ������� ���
��� fn(x) = xn� ������������� ���� fn ∈ C([−1, 1]) ∀ n ∈ N0�

�� ��������� ��� �fn, fm��
��� U = span(f0, f1, f2, f3)�

�� ��������� ��� ���� ���������������� ��� U �

�� ��������� ��� dimU �

�� ��� {P0, P1, P2, P3} ��� ����� ��� ���� �� �������� ��� ��� ������� ��� ����������
P0, P1, P2 ��� P3 ��� ��� ��������� [−1, 1]�

�� ��� g(x) = (x− 1)2� ������� ��� g ��� ����������������� ��� Pj ����
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Γ(s) :=

� ∞

0

ts−1 e−t dt

��� ��� ���� s ∈ R+ ������������� ��������

�� ��������� ��� Γ(1)�

�� ������ ���� Γ(s+ 1) = sΓ(s) ∀s > 0� �������� ��������� ������������

�� ��������� ��� Γ(6)�

�� ������ ����
1

xs
=

1

Γ(s)

� ∞

0

ts−1 e−xt dt ∀ x ∈ R+
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